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Please compute the Peak Hour F actor (PHF) for the next two conditions.
(a) (15%) Assume that 50 vehicles were counted during each of all possible 5-min intervals

during the peak hour. _
(b) (15%) Consider the extreme case where 250 vehicles were counted during a 15-min

interval and no vehicles were observed during the rest of the hour.

(20%) Traffic congestion has become a serious issue in a contemporary urban area. Please

~ describe what are the effects of traffic congestion.

(15%) Please describe the definition of Intelligent Transportétion System (ITS). In addition,

please instance two ITS services and explain how they work.
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